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Instruction : Question No. 1 is objective type question. It consists of
Section (A), Section (B) and Section (C). Each section has
5 questions of 1 mark each.
-1 (@us-3N) we fasen g fafau [1x5=5]

(Section-A) Choose and write the correct option :
(/) & &9 FHHRUE TR F pH :
(37 6.5 € S (F) 7€
(T) s.5VFAET (3) 7.5Q aAfus g

The cause of tooth decay is :
(a) pH of saliva becomes 6.5  (b) pH of saliva becomes 7
(¢) pH ofsalivais less than 5.5 (d) pH of saliva is more than 7.5
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The modern periodic law was proposed by :
(@) Newlands
(b) Moseley
(¢) Mendeleev
(d) Dobereiner

AFARZ STF R GAY

(37) MgCO, (&) Al,04:2H,0
(7)) Fe,04 . (?) SnO,

The formula of bauxite ore is :

(@) MgCO; B (b)) ALO;2H,0
(c) Fe, 04 (d) SnO,

Al g X

(37 fafir=rand =gt &

(F) R T UREA SRR & 91§ oas 70 @
(7) I H | = T

(?) (37 d (@) W

Sexual reproduction leads to :

(a) increase in variations

(b) formate zygote from fertilization of male and female gametes

(¢} None of the above

(d) Both (a) and (b)
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If all insect-eating birds were removed from a particular

cropland area, then :

(a) crop production will increase

(b) insect infestation will increase

(¢) the number of other birds will increase

(d) It will not affect

wy-1 .(m—‘a) T sl 1 gfd it [1x5=5]
(Section-B) Fill in the blanks :
(i) 39 AW F BEHA U 25 P, 3, A swR A — 0
The focal length of a convex lens is 25 c¢m, then the power of
this lens will be .
(i) 3 i ST Y- W ¥, — Iqsivea wean ¥
The organisms which feed on small green plants are called
consumers.
(i) s T T HE W W 9 e i — ¥
The gas obtained on heating potassium permanganate is
(iv) forera wfedy =1 S.1. A5 — ¥
The S.I unit of electric resistance is .
(v) f¥fesw spa1 i [UPAC 9 — ¥
The JUPAC name of acetic acid is .
S-SC
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wWA-1 (EUs-W) 3feq Ty s [1-5=5)
(%) (@)
() TERe TniHeR - Gl wl TSR
(i) Wi =Eq - gt faaEs
(iif) - e a9 Rifean
(iv) Siare du= - gifd
(v) oTaas g4 - e e
(Section-C) Match the following :
(A) ®)
() Fahrenheit thermometer —  Headlight of vehicles
(if) Natural Selection —  Universal solvent
(iif) Water —  Coal and petroleum
(iv) Fossil fuel —  Darwin
(v) Concave mirror —  Daniel Gabriel
fevr ¥ FHIF 2 W 6 0% oS TH €1 TR T W
2 3% HEfer ¥ (VAT IW F sifuman we-dmW
30 I ©)
Instruction Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks. (Maximum word limit of
each answer is 30 words)
-2 O o Iufedd ol % ﬁmamﬁmm—uﬁwﬁﬂ‘%lam
é 3 RO TR 2]
The physical and chemical properties of elements belonging to the
same group are similar. Why? Give any two reasons.
yy-3 Tt 900 o Q) Suam fafiae) 2]

Write two uses of bleaching powder.
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wgT-4  GY% § S g areh R < sl & wm fafaw) [2]
Write the name of any two ocean energy.
W9H-5  ofUueH fHQ FEa ¢ ? 2]
What is decomposer?
w-6 TR R IRy g F W fafagy 2]
Write the name of any two plant hormones.
for WA HHF 7 /10 T ARSI T § | T T W
3 3% JEfc €1 (YWAE IW H SAfudaH WR-dm
50 UK ®)
Instruction Question Nos. 7 to 10 are very short answer type questions.
Each_question carries 3 marks. (Maximum word limit of
each answer is 50 words)
WeA-7  WIoR Feht ared ol iak & hren T foran < ® 1 =40 2 (3]
The ingide of a solar cooker box is painted black. Why?
UPA-8 319 GHGA, STdqel q91 STE U oh! TgaH TI¥ hioh fhd ThR T Tohdl
%2 [1x3=3]
How can you differentiate between plane, concave and convex
mirrors by touching?
-9 WA A wd s angmeE? [2+1=3]
- What is a fuse? Which material is it made of ?
YA-10  SFATIHT 1 3T ¥ HHe IAEA 1 9gH & g H 7Eg L gl
€? (3]
How can our knowledge of genetics hel;; in improving crop
production?
S-5C
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T wHE 11 W 14 T AYETE T T TS TEH W
4 % SEfd €1 (FAF IW F AfEwd wR-Ww

Each question carries 4 marks. (Maximum word limit of

Adsr
75 WX ¥)
Instruction
each answer is 75 words)
weT-11

F9 Yl & 9% 9 I9% pH WH qoh F fag g €)1 Sl o faverww

Question Nos. 11 to 14 are short answer type questions.

|t
Y & A pH AR
T ¥ | w1 oA 8.2
EicEaks: 2.2
qrHt 7.0
wfean FrRglaaRs faerd 13.0
m.

(3 fora od =t wfa e &2
() e verd =+t yopfa s & 2
(@) fora ver F wHfa SR} 2
(3) -9 99 Jo GR 2 ?

Name of some substances and their pH values are given in the table.

Analyse the data and answer the following questions :

Table
Name of Substance pH value
Solution of baking soda 8.2
Lemon juice 2.2
Water 7.0
Sodium hydroxide solution 13.0

(1x4=4]

S-§C



[7]

Question : .
(a) Which of the substance is basic in nature?
(b) Which of the substance is acidic in nature?
(¢) Which of the substance is neutral in nature?

(d) Which of the substance is strong base?

Srerqr
OR

A7 TSN T TN HE& HmEW: 5; 7 w6 10 § | fafaw fE—
(3) IR-WaE T 18 FIE ;
(7 aﬂﬂ—mac‘da’iwm%;
(F) FR-WaE Gt 13 FE ;

(7)) Aaitca fra omad F &)

The atomic numbers of three elements are 5, 7 and 10 respectively.

Write— | '
(@) which of these belongs to group 18;

() which of these belongs to group 15;

(¢) w:hich of these belongs to grou}-) 13;

(d) all elements belong to which period.

WvT-12 sﬁiﬂﬁuﬂamaﬁﬁﬁmwmaﬂaﬁmﬁmﬁgﬁﬁm: [2+2=4)

(37) Wmifra g |
(&) wfshan =1 varafis T

Describe the industrial production of ethanol from molasses under
the following heads :

(a) Labelled diagram

(6) Chemical equation of the process

S-5C

P.T.O.
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arerar
OR
PVC % Hfi wee foraa, 365 S &1 Syam fafa

Write the condensed structure of PVC and write any two uses of it.
it @& STl vaga # =R 3R fafEe| o [1x4y
Write four differences between aerobic and anaerobic respiration.
rerar
OR
RifiTeh To sreifiren wor o 9 o fafaw )
Write four differences between sexual and asexual reproduction.
WS To SToTelt S1err o1 € 2 SR 9 W g | [2+2=4)
What are dominant and recessive characters? Explain with example.
Huar
OR
TEIE CE wHgf weor 7 € 7 3SR da W Ff )

What are homologous and analogous characters? Explain with example.

U HHIF 15 TH 16 UG T § ) TAF Y W
saimaqﬁrza%:_(mmﬁaﬁ:mw-ﬁm_
150 ¥ ®)

Instruction : Question Nos. 15 and 16 are long answer type questions.

W -15

Each question carries S marks. (Maximum word limit of
each answer is 150 words) '

Togqa siffy (=) w1 aof e st & oifa Aifg . [142+2=5]
(sn fagrn

(¥) wifa TEfa

(§) wrfafy

Explain electric generator (Dynamo) under the followin g headings :

(a) Principle

(b) Labelled diagram

(¢) Working method

OR

S5C
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(9]
feret que = & I Y B Wiiifee Iw 3R W TR T
TEn wie W @ 5 v s fagedl % stata Hif :
(37 TmifRa fo=
(%) wam fafy

(%) et

Draw magnetic lines of force when North pole of bar magnet is
aligned with the geographic North and describe under the following
heads |
(a) Labelled _'diagram
(6) Application method
(¢) Two precautions
mﬁammaﬂmﬁm(mqﬁm@mﬁﬁﬁamﬁa
L (I . (5]
Establish the relation between the radius of curvature { R ) and focal
length () of the spherié:al concave mirror.

' Srerar

OR

TH 1 T FRY Fed & 2 weda & Frem feraet mifea Yante
Crieed|

What is reflection of light? Write law of reflection and draw labelled

diagram.
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e ; Y FHG 17 TH 18 SeIwy wyvd ¥ TAE W W
6 3 TETCA § | TAF Y H 2 IY-TA & | (FAH I Hl
Afenay v=-d 75 9 ®)

Instruction Question Nos. 17 and 18 are long answer type questions.
Each question carries 6 marks. Each question has two
sub-questions. (Maximum word limit of each answer is
75 words) ' '

W17 (3) A1g UH urg # iiferss o0 & YR W A9 o fafaw |

(=) TrefetEa fFamrem Tregiem & i or 91 qeia € 2
() TP T R T T e d
(i) TRYSA AWV W WR F P& F g7 o dieht & 9 |
919" Y ST Tt ¥ | [3+1%4+1%=6]

(@) . Write three differences between metal and non-metal on the
basis of physical properties.

(b) The activities described below are due to which property of
hydrogen?
() Ahydrogen filled balloon flies in air.

- (if) A ‘pop’ sound is produced when a lighted matchstick is
taken near the mouth of the jar filled with hydrogen gas.

3rerar
OR

(37 @i T s A 33T Wi o fafaw) (FE 99)

() ﬁwﬁ&mﬁ%?#&m%aﬁ#ﬁﬁﬁaﬂﬁfa@m

(a) Write differences between mineral and ore with example.
(any threc)

(b) What is corrosion? Write any three methods to prevent corrosion.

S-5C
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WT-18  (37) HIH F EA §F H @S AWifRq foa SR
(%) smeE ¥ |ifaq HCl %1 = fafaw) ($E.d89) [3+3=6]

(@) Draw a well-labelled diagram of human digestive system.
(b) Write the function of HCI secreted in the stomach. (any three)
rerar
OR

(37) AIE <A & TFaEd HI2 (LS) 1 Wes AWifhd fad )
(F) WhrT-Hyaw Ft gt fergas whean 1 Tarfe s fafeg |

(@) Draw a well-labelled diagram of longitudinal section (LS) of
human heart.
(b) Define photosynthesis and write the chemical equation of this

process.



